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Maths

Complete the 3 scenarios so they match the bar model.

476

200

676

Answers
The answers are in red.

a) Ron has £676 altogether.
He spends £200 and has £476 pounds left.

b) Jack has £476
Eva has £200
They have £676 altogether.

c) Amir has £200 more than Rosie.
Amir has £676
Rosie has £476

Could you write a scenario of your own to match the bar model?

it.

mine.

English

Answers
| have attached the emotion graph | completed, yours might be a little different to

Look back through the story The Colour of Home.

Think about Hassan’s emotions during his first two day at his new school.

Complete an emotion graph to show how Hassan’s emotions changed during these days.
There is a worksheet for this and it can be printed, but if that is not possible you can draw

Foundations Subject — Science
What does a plant need to grow?




Make a list of what you think a plant needs to grow.
Visit BBC Bitesize, watch the online activities and compare your list to the answers.

https://www.bbc.co.uk/bitesize/topics/zpxnyrd/articles/zxxsyrd

Are you growing any plants whilst we are off school? What are you doing to look after
them?

Answers
Check your answers on the BBC bitesize site.



https://www.bbc.co.uk/bitesize/topics/zpxnyrd/articles/zxxsyrd

